
 

I set a transition for Analyte and one transition for internal standard (IS) 

 

IS are set as ‘’Global standard’’ 

 

 

 



 

 

 

 

 

 

 

 

 

 

 



No calculated concentration for replicate sample no 15, 26 and 33. 

 

Replicate sample no 15, 26 and 33 have appropriate ‘’AreaRatio to Global’’ value 

 

 

Using the slope and intercept value, I’m able the calculate concentration and Accuracy. 

Slope : 0,021134 

Intercept : 0,0023353 

Replicate Conc. 
AreaRatio to 

Global 
Calc. Conc. Accuracy 

15 0.5 0.013950995 0.549621234 109.9 

16 1 0.022296371 0.944500376 94.5 

26 0.25 0.007376723 0.238545613 95.4 

27 0.5 0.013102867 0.509490239 101.9 

33 1 0.024505159 1.049013859 104.9 

34 1 0.025929119 1.11639157 111.6 

 


